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soeT A 7 9T g T @ E

There are three sections A, B and C in the paper.

DT T H FeT T 1 & G 10 9771 & 3% ST | e YT Wb 379 1 8 0d
Gl 10 9777 TGI8 FHFR & To7 & 3 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

QT & & 8 FvI 4 @ 81 6 Y971 & IR T | IF J97 3 3 H1 3 0
$7HT 5 3/50 Fegl § 3T ST /|

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

ST J % 6 v § @ f5egl 4 Io1 3 IR AT | FAF F97 8 37 F & T
597 15 137,/150 91551 8 IR Gorq |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

YRI% QT & T T 1 FHEGR TF G 5T Biford |

Solve all the questions of a section consecutively together.
a7 yrrsT 7 s 817 @1 [T 7 3 sgare a8
Only English version is valid in case of difference in both the languages.

JRA-T
SECTION - A

efioe TR 10 1 ST GHged 8

(a)
(c)

1010 (b) 1011
1001 (d)y 1000

Binary equivalent of Decimal Number 10 is

(a)
(c)

1010 (b)y 1011
1001 (d) 1000

(1 0f4) P.T.O.
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() A+B=A-B (b) A-B=A+B
(cc A+B=A-B (d A+B=B+A
Which of the following is true ?

(@ A+B=A-B (b) A-B=A+B
(c) A+B=A-B (d A+B=B+A
form For faee 1 3MaR 8 R 7

(a) Octal (b) Hexadecimal
(c) Binary (d) Decimal
Which Number system has a base § ?

(a) Octal (b) Hexadecimal
(¢) Binary (d) Decimal
1011011 T 2°s o B |

(a) 0100011 (b) 0110101

(¢) 0110011 (d) 0100101

2’s compliment of 1011011

(a) 0100011 (b) 0110101

(c) 0110011 (d) 0100101
¢TeH dTfeheh JUITeft &1 Tsh OR Gate U dTfeheh JOMTeA! 3§ & ST 2 |
(a) NOT gate (b) Ex-OR gate
(c) AND gate (d) EX-NOR gate
AN OR gate in a positive logic system becomes in a Negative logic system.
(a) NOT gate (b) Ex-OR gate
(c) AND gate (d) EX-NOR gate
T full adder d fopda input Bad 7

(a) 1 (b) 2

() 3 (d 4

Total number of input in a full adder is

(@) 1 (b)) 2

() 3 (d)ze:d

fopm aftay 1 2"3a9e line W T TS output BT S ?

(a) Demultiplexer (b) Decoder

(c) Encoder (d) Multiplexer

Which of the following is a combinational logic circuit that has 2" input line and a

single output line ?
(a) Demultiplexer
(¢) Encoder

(b)
(d)

Decoder
Multiplexer
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(viii) @h mod-5 T ST 3 feru fera flip-flop i 3TTarweerar & 2

(@) 5 (by 4
() 3 d 2
How many flip-flop are required to make mod-5 counter ?
(@ 5 (b)y 4
() 3 (d 2
(ix) -Tedietaet $H ge H Ehiet d
(a) hIS data frarsr & g (b) Is i =1 g
(c) IS control frerer &l (d) 3T B T B T
In decoder as compared to de-multiplexer
(a) No data input (b) No output
(¢) No control input (d) None of the above

() THETY=AC+O)TAR-

(@ C (b) C
) A @ A
Equation Y = A (C + C) is equivalent to
(@ C () C
() A @ A
Qo — &t
SECTION - B

Half subtractor T logical expression T circuit diagram o |

Explain logical expression and circuit diagram of half subtractor.

fag Hifa
A+AB+ABC=A
Prove that, '
A+AB+ ABC=A

Duality S 1 3T SETelVT Hied TS |

Explain Duality theorem with suitable example.

T SOP ¥ uftafdd i -
AB + BC + CA.

Convert into standard SOP expression :
AB +BC + CA.

1149
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6. Decode counter =T '§ 3R EHQS BEISCIELE

What is a decode counter and what are its types ? 3)

7. Universal Gatesm |

Explain universal gates. 3)
8. Multiplexers o fafir= 34?[@71 g |
What are various applications of Multiplexers ? 3)

9. RS flip flop i invalid state T & ?
What is invalid state in a RS flip flop ? A3

T — &t
SECTION -C
10. ﬁmmﬁk-mapmwmwmﬁﬁmmw :

F=%¥m(1,2,5,7)+2d (0, 4, 6)

F=%(0,2,5,7,8,10,13,15)

Minimise following expressions using k-map and Realise them using universal gates :

F=%m(1,2,5,7)+2d (0, 4, 6)

F=%(0,2,5,7,8,10,13,15) (2x4)

11. mod-3 counterwmmﬁ@awwﬁmmﬁm@ |

Draw logic diagram of mod-3 counter and explain its working. ' 3

[2. TH 8 : 1 multiplexer ! e qTfetert, erar weftentor 3 drfeher ufasy s72% |

Draw logic circuit of 8 : 1 multiplexer along with its truth table and Boolean
expression. t))

13. 4bitﬁﬂwwmw,ﬁ7ﬁa@maﬁtwm |

Explain working of 4 bit Ring Counter with logic circuit and output wave forms. 3

14, JK flip flop =1 Tk 3R T 36h! IO THzTEY |
Draw the logic diagram of JK flip flop and explain its working. 3)

15. fof= yepm i RAM %! Fmamed |
Explain different types of Random Access Memory (RAM). 8)



